# GENERALIZED CHEBYSHEV POLYNOMIALS 

Mourad Abchiche<br>AND<br>Hacéne Belbachir<br>Faculty of Mathematics<br>USTHB, RECITS Laboratory<br>BP 32, El Alia, 16111 Bab Ezzouar, Algiers, Algeria<br>e-mail: hbelbachir@usthb.dz mabchiche@usthb.dz


#### Abstract

Let $h(x)$ be a non constant polynomial with rational coefficients. Our aim is to introduce the $h(x)$-Chebyshev polynomials of the first and second kind $T_{n}$ and $U_{n}$. We show that they are in a $\mathbb{Q}$-vectorial subspace $E_{n}(x)$ of $\mathbb{Q}[x]$ of dimension $n$. We establish that the polynomial sequences $\left(h^{k} T_{n-k}\right)_{k}$ and $\left(h^{k} U_{n-k}\right)_{k},(0 \leq k \leq n-1)$ are two bases of $\mathbb{E}_{n}(x)$ for which $T_{n}$ and $U_{n}$ admit remarkable integer coordinates.


Keywords: Chebyshev polynomials, integer coordinates, polynomial bases.
2010 Mathematics Subject Classification: 11B83, 15A03, 11B39, 08A40.

## 1. Introduction

The $n^{\text {th }}$ Chebyshev polynomials of the first and the second kind are respectively defined by the following second order recurrences

$$
\begin{aligned}
& T_{n}=2 x T_{n-1}-T_{n-2} \text { with } T_{0}=1 \text { and } T_{1}=x \\
& U_{n}=2 x U_{n-1}-U_{n-2} \quad \text { with } U_{0}=1 \text { and } U_{1}=2 x
\end{aligned}
$$

For $n \geq 1$, the explicit expressions of $T_{n}$ and $U_{n}$ are given (see for instance $[4,3])$ by the following identities

$$
\begin{align*}
T_{n} & =\sum_{k=0}^{\lfloor n / 2\rfloor}(-1)^{k} 2^{n-2 k-1} \frac{n}{n-k}\binom{n-k}{k} x^{n-2 k},  \tag{1}\\
U_{n} & =\sum_{k=0}^{\lfloor n / 2\rfloor}(-1)^{k} 2^{n-2 k}\binom{n-k}{k} x^{n-2 k} . \tag{2}
\end{align*}
$$

The Chebyshev polynomials of the first and the second kind admit respectively the following exponential generating functions, see Cesarano [8] (we also find in it the ordinary generating functions and some other generalizations, see also [6]),

$$
\begin{aligned}
\sum_{n \geq 0} T_{n}(x) \frac{t^{n}}{n!} & =\exp (t x) \cos \left(t \sqrt{1-x^{2}}\right) \\
\sum_{n \geq 0} U_{n-1}(x) \frac{t^{n}}{n!} & =\frac{\exp (t x)}{\sqrt{1-x^{2}}} \sin \left(t \sqrt{1-x^{2}}\right)
\end{aligned}
$$

In [7], the integral representations of Chebyshev polynomials of the first and second kind in terms of bivariate Hermite polynomials $H_{n}(x, y)$ are established (for the used version of Hermite polynomials see for instance Appell and Kampé de Fériet [1]). Cesarano propose [6] a new extension of Chebyshev polynomials via the integral representation as follows, for a real parameter $\alpha$ and the variables $x, y$,

$$
\begin{aligned}
U_{n}(x, y, \alpha) & =\frac{1}{n!} \int_{0}^{\infty} \exp (-\alpha t) t^{n} H_{n}(2 x,-y / t) d t \\
T_{n}(x, y, \alpha) & =\frac{1}{2(n-1)!} \int_{0}^{\infty} \exp (-\alpha t) t^{n-1} H_{n}(2 x,-y / t) d t
\end{aligned}
$$

where

$$
H_{n}(x, y)=\sum_{k=0}^{\lfloor n / 2\rfloor} \frac{n!}{(n-k)!}\binom{n-k}{k} x^{n-2 k} y^{k}
$$

Identities (1) and (2) give the decomposition of $T_{n}$ and $U_{n}$ in the canonical basis of $\mathbb{E}_{n}[x]$ (with dimension $\lfloor n / 2\rfloor+1$ ) of polynomials having the same parity with $n$ and of order $\leq n$. Our aim is to extend the results of Belbachir and Bencherif [2] by considering a non constant polynomial $h(x)$ instead of $2 x$. We were led, at the beginning, to consider separately the situation $h(x)=a x$ as a specific distinct case. As an example, we establish that for $(n \geq 2,1 \leq k \leq\lfloor n / 2\rfloor, 0 \leq l \leq\lfloor(n-1) / 2\rfloor)$ the family $\mathfrak{B}_{n}=\left(h^{n-2 k}, x h^{n-2 l-1}\right)$ is a basis in all situations, excluding the case where $h(x)=a x$. This work is not a generalization of Belbachir and Bencherif
work [2], but a complementary situation and an extension to the case $h(x) \neq a x$. We have just to notice that all the results we give are independent of the degree of $h$.

## 2. The generalized Chebyshev polynomials

We define, for every integer $n$, the $h(x)$-Chebyshev polynomials of the first and second kind respectively by the recurrence sequences

$$
\begin{array}{ll}
T_{n}=h(x) T_{n-1}-T_{n-2} & \left(T_{0}=1 \text { and } T_{1}=x\right) \\
U_{n}=h(x) U_{n-1}-U_{n-2} & \left(U_{0}=1 \text { and } U_{1}=2 x\right) . \tag{4}
\end{array}
$$

where $h(x)$ is a non constant polynomial with rational coefficients.
The generating series of $\left(T_{n}\right)_{n}$ and $\left(U_{n}\right)_{n}$ are given by

$$
g_{T_{n}}(t)=\frac{1-t(h(x)-x)}{1-h(x) t+t^{2}} \text { and } g_{U_{n}}(t)=\frac{1-t(h(x)-2 x)}{1-h(x) t+t^{2}} .
$$

According to these expressions, we establish the following result
Theorem 1. For every integer $n \geq 1$,
$T_{n}=\sum_{k=0}^{\lfloor n / 2\rfloor}(-1)^{k} \frac{k}{n-k}\binom{n-k}{k} h(x)^{n-2 k}+\sum_{k=0}^{\lfloor(n-1) / 2\rfloor}(-1)^{k} \frac{n-2 k}{n-k}\binom{n-k}{k} x h(x)^{n-2 k-1}$,
(6)
$U_{n}=\sum_{k=0}^{\lfloor n / 2\rfloor}(-1)^{k} \frac{k}{n-k}\binom{n-k}{k} h(x)^{n-2 k}+2 \sum_{k=0}^{\lfloor(n-1) / 2\rfloor}(-1)^{k} \frac{n-2 k}{n-k}\binom{n-k}{k} x h(x)^{n-2 k-1}$.
Proof. We have $\frac{1}{1-h t+t^{2}}=\sum_{m \geq 0} t^{m}(h-t)^{m}=\sum_{m \geq 0} \sum_{k=0}^{m}\binom{m}{k}(-1)^{k} h^{m-k} t^{m+k}$. Taking $m+k=n$, we obtain $\frac{1}{1-h t+t^{2}}=\sum_{n \geq 0} \sum_{k=0}^{\lfloor n / 2\rfloor}\binom{n-k}{k}(-1)^{k} h^{n-2 k} t^{n}$. It follows that $1+\sum_{n \geq 1} T_{n} t^{n}=1+\sum_{n \geq 1} S t^{n}$, where $S=\sum_{k=0}^{\lfloor n / 2\rfloor}(-1)^{k}\binom{n-k}{k} h^{n-2 k}-$ $\sum_{k=0}^{\lfloor(n-1) / 2\rfloor}(-1)^{k}\binom{n-k-1}{k} h^{n-2 k}+\sum_{k=0}^{\lfloor(n-1) / 2\rfloor}(-1)^{k}\binom{n-k-1}{k} x h^{n-2 k-1}$. Using the equality $\binom{n-k-1}{k}=\frac{n-2 k}{n-k}\binom{n-k}{k}$, we obtain $S=\sum_{k=0}^{\lfloor n / 2\rfloor}(-1)^{k} \frac{k}{n-k}\binom{n-k}{k} h^{n-2 k}$ $+\sum_{k=0}^{\lfloor(n-1) / 2\rfloor}(-1)^{k} \frac{n-2 k}{n-k}\binom{n-k}{k} x h^{n-2 k-1}$.

Similarly, we obtain formula (6).
Remark 2. For $h(x)=2 x$, we have for each $n \geq 1$.

$$
\begin{align*}
T_{n} & =\sum_{k=0}^{\lfloor n / 2\rfloor}(-1)^{k} 2^{n-2 k-1} \frac{n}{n-k}\binom{n-k}{k} x^{n-2 k}  \tag{7}\\
U_{n} & =\sum_{k=0}^{\lfloor n / 2\rfloor}(-1)^{k} 2^{n-2 k}\binom{n-k}{k} x^{n-2 k} . \tag{8}
\end{align*}
$$

These identities are well known for Chebyshev polynomials of the first and second kind (see for instance [4]).

## 3. Determining an adequate basis

The aim of this section is to establish that for $h(x)$ not equal to $a x$, the family of polynomials $\mathfrak{B}_{n}$ bellow constitutes a basis of the vectorial space $\mathbb{E}_{n}(x)$.

Let $\mathfrak{B}_{1}=\{x\}$ and $\mathfrak{B}_{n}=\left(h^{n-2 k}, x h^{n-2 l-1}\right)(n \geq 2)$, with $1 \leq k \leq\lfloor n / 2\rfloor$ and $0 \leq l \leq\lfloor(n-1) / 2\rfloor$. For every $n \geq 1$, the polynomials $T_{n}$ and $U_{n}$ are in the $\mathbb{Q}$-vectorial subspace $\mathbb{E}_{n}(x)$ of $\mathbb{Q}[x]$ generated by the family $\mathfrak{B}_{n}$.

Theorem 3. The family $\mathfrak{B}_{n}$ is a basis of $\mathbb{E}_{n}(x)$.

Proof. For $n=2 m(m \geq 2)$ (the case $n=2$ is trivial), $\mathfrak{B}_{2 m}=\left\{1, x h, h^{2}, x h^{3}, \ldots\right.$, $\left.h^{2 m-2}, x h^{2 m-1}\right\}$. From the fact that the degree, with respect to $x$, of $x h^{2 m-1}$ is strictly greater than degrees of $h^{2 m-1}$ and $x h^{2 m-k}(k \geq 2)$, the polynomial $x h^{2 m-1}$ can not be written as linear combination of $1, x h, \ldots, h^{2 m-2}$.

Now, for $a_{i} \in \mathbb{Q},(0 \leq i \leq 2 m-3)$, suppose that

$$
\begin{equation*}
h^{2 m-2}=a_{2 m-3} x h^{2 m-3}+a_{2 m-4} h^{2 m-4}+\cdots+a_{1} x h+a_{0} \tag{9}
\end{equation*}
$$

The degree of $h^{2 m-2}$ is strictly greater than the degree of $x h^{2 m-3}$ except when $d^{\circ} h=1$ for which the two degrees are equal. Then, if $d^{\circ} h>1$, relation (9) is not possible. If $d^{\circ} h=1$ then $h(x)=a x+b$ with $a$ and $b$ in $\mathbb{Q}-\{0\}$. By identification according to (9) we obtain a contradiction. Then $\mathfrak{B}_{2 m}$ is a basis of $\mathbb{E}_{2 m}(x)$.

The same approach holds for $n$ odd.

The first values of polynomials $T_{n}$ and $U_{n}$ over the basis $\mathfrak{B}_{n}$ are

$$
\begin{aligned}
& T_{1}=x, \\
& T_{2}=x h-1, \\
& T_{3}=x h^{2}-h-x, \\
& T_{4}=x h^{3}-h^{2}-2 x h+1, \\
& T_{5}=x h^{4}-h^{3}-3 x h^{2}+2 h+x, \\
& T_{6}=x h^{5}-h^{4}-4 x h^{3}+3 h^{2}+3 x h-1, \\
& \\
& U_{1}=2 x, \\
& U_{2}=2 x h-1, \\
& U_{3}=2 x h^{2}-h-2 x, \\
& U_{4}=2 x h^{3}-h^{2}-4 x h+1, \\
& U_{5}=2 x h^{4}-h^{3}-6 x h^{2}+2 h+2 x, \\
& U_{6}=2 x h^{5}-h^{4}-8 x h^{3}+3 h^{2}+6 x h-1 .
\end{aligned}
$$

## 4. Two other bases

In this section, we establish that $\mathfrak{T}_{n}=\left(h^{k} T_{n-k}\right)_{0 \leq k \leq n-1}$ and $\mathfrak{U}_{n}=$ $\left(h^{k} U_{n-k}\right)_{0 \leq k \leq n-1}$ for $n \geq 1$, are two bases of $\mathbb{E}_{n}(x)$. Notice that $\mathfrak{T}_{n}$ and $\mathfrak{U}_{n}$ are families of $\mathbb{E}_{n}(x)$.

Theorem 4. For any $n \geq 1, \mathfrak{T}_{n}$ and $\mathfrak{U}_{n}$ are bases of $\mathbb{E}_{n}(x)$.
This result follows from the following lemma.
Lemma 5. For any $n \geq 1$,

$$
\begin{aligned}
\operatorname{det}_{\mathfrak{B}_{n}}\left(\mathfrak{T}_{n}\right) & = \begin{cases}1 & \text { for } n \text { even, } \\
(-1)^{\lfloor n / 2\rfloor} & \text { for } n \text { odd, }\end{cases} \\
\operatorname{det}_{\mathfrak{B}_{n}}\left(\mathfrak{U}_{n}\right) & = \begin{cases}2^{\lfloor n / 2\rfloor} & \text { for } n \text { even, } \\
(-1)^{\lfloor n / 2\rfloor} .2^{\lfloor n / 2\rfloor+1} & \text { for } n \text { odd. }\end{cases}
\end{aligned}
$$

Proof. For any integer $m \geq 1$ and for $1 \leq k \leq 2 m+1$, set $V_{k}^{(m)}:=h^{k-1} T_{2 m+1-k}$ and $W_{k}^{(m)}:=h^{k-1} U_{2 m+1-k}$. We have $V_{k+1}^{(m)}-V_{k}^{(m)}=V_{k}^{(m-1)}$ and $W_{k+1}^{(m)}-W_{k}^{(m)}=$ $W_{k}^{(m-1)}$.

Let $\Delta_{m}:=\operatorname{det}_{\mathfrak{B}_{2 m}}\left(V_{1}^{(m)}, V_{2}^{(m)}, \ldots, V_{2 m}^{(m)}\right)$ and $D_{m}:=\operatorname{det}_{\mathfrak{B}_{2 m}}\left(W_{1}^{(m)}, W_{2}^{(m)}\right.$, $\left.\ldots, W_{2 m}^{(m)}\right)$. We have

$$
\begin{aligned}
\Delta_{m} & =\operatorname{det}_{\mathfrak{B}_{2 m}}\left(V_{1}^{(m)}, V_{2}^{(m)}-V_{1}^{(m)}, \ldots, V_{2 m}^{(m)}-V_{2 m-1}^{(m)}\right) \\
& =\operatorname{det}_{\mathfrak{B}_{2 m}}\left(V_{1}^{(m)}, V_{1}^{(m-1)}, V_{2}^{(m-1)}, \ldots, V_{2 m-1}^{(m-1)}\right)
\end{aligned}
$$

Set $d_{h}^{\circ} T_{n}$ the degree of $T_{n}$ with respect to $h$ according to the basis $\mathfrak{B}_{n}$. It follows that $d_{h}^{\circ} T_{0}=0$ and $d_{h}^{\circ} T_{n}=n-1(n \geq 1)$. Then $d_{h}^{\circ} V_{k}^{(m)}=2 m-1$ $(1 \leq k \leq 2 m)$. We have $d_{h}^{\circ} V_{k}^{(m-1)}=2 m-3 \quad(1 \leq k \leq 2 m-2)$ and $d_{h}^{\circ} V_{2 m-1}^{(m-1)}=$ $2 m-2$. The dominant coefficient of $V_{1}^{(m)}, V_{2 m-1}^{(m-1)}$ and $V_{k}^{(m-1)}(1 \leq k \leq 2 m-2)$ are equal to 1. It follows that $\Delta_{m}=(-1)^{1+2 m-1} \operatorname{det}_{\mathfrak{B}_{2(m-1)}}\left(V_{1}^{(m-1)}, V_{2}^{(m-1)}, \ldots\right.$, $\left.V_{2(m-1)}^{(m-1)}\right)=\Delta_{m-1}=\cdots=\Delta_{1}=1$. Similarly

$$
\begin{aligned}
D_{m} & =\operatorname{det}_{\mathfrak{B}_{2 m}}\left(W_{1}^{(m)}, W_{2}^{(m)}, \ldots, W_{2 m}^{(m)}\right) \\
& =\operatorname{det}_{\mathfrak{B}_{2 m}}\left(W_{1}^{(m)}, W_{1}^{(m-1)}, W_{2}^{(m-1)}, \ldots, W_{2 m-1}^{(m-1)}\right)
\end{aligned}
$$

Since $d_{h}^{\circ} W_{k}^{(m)}=2 m-1(1 \leq k \leq 2 m), d_{h}^{\circ} W_{k}^{(m-1)}=2 m-3(1 \leq k \leq 2 m-2)$ and $d_{h}^{\circ} W_{2 m-1}^{(m-1)}=2 m-2$ with dominant coefficient of $W_{1}^{(m)}$ and $W_{k}^{(m-1)}(1 \leq k \leq$ $2 m-2$ ) are equal to 2 and the dominant coefficient of $W_{2 m-1}^{(m-1)}$ is equal to 1. Then $D_{m}=2(-1)^{2 m} D_{m-1}=2 D_{m-1}=\cdots=2^{m}$.

Taking $n=2 m+1$, we have

$$
\begin{aligned}
& \operatorname{det}_{\mathfrak{B}_{2 m+1}}\left(T_{2 m+1}, h T_{2 m}, \ldots, h^{2 m} T_{1}\right) \\
& =(-1)^{2 m} \cdot(-1)^{m} \cdot \operatorname{det}_{\mathfrak{B}_{2 m}}\left(T_{2 m}, h T_{2 m-1}, \ldots, h^{2 m-1} T_{1}\right) \\
& =(-1)^{m} \operatorname{det}_{\mathfrak{B}_{2 m}}\left(T_{2 m}, h T_{2 m-1}, \ldots, h^{2 m-1} T_{1}\right) \\
& =(-1)^{m} \operatorname{det}_{\mathfrak{B}_{2 m}}\left(V_{1}^{(m)}, V_{2}^{(m)}, \ldots, V_{2 m}^{(m)}\right) \\
& =(-1)^{m} \Delta_{m} \\
& =(-1)^{m}
\end{aligned}
$$

and

$$
\begin{aligned}
& \operatorname{det}_{\mathfrak{B}_{2 m+1}}\left(U_{2 m+1}, h U_{2 m}, \ldots, h^{2 m} U_{1}\right) \\
& =2(-1)^{2 m+2} \cdot(-1)^{m} \cdot \operatorname{det}_{\mathfrak{B}_{2 m}}\left(U_{2 m}, h U_{2 m-1}, \ldots, h^{2 m-1} U_{1}\right) \\
& =2(-1)^{m} \operatorname{det}_{\mathfrak{B}_{2 m}}\left(U_{2 m}, h U_{2 m-1}, \ldots, h^{2 m-1} U_{1}\right) \\
& =2(-1)^{m} D_{m} \\
& =(-1)^{m} 2^{m+1}
\end{aligned}
$$

## 5. EXPRESSIONS OF $T_{n}$ AND $U_{n}$ IN THE BASES $\mathfrak{T}_{n}$ AND $\mathfrak{U}_{n}$

In this section we give the decomposition of $T_{n}$ and $U_{n}$ in each of the bases $\mathfrak{T}_{n}$ and $\mathfrak{U}_{n}$ respectively. There are height possibilities:

1. $T_{2 n}$ over $\mathfrak{T}_{2 n}: T_{2 n}$ is $T_{2 n}$;
2. $U_{2 n}$ over $\mathfrak{U}_{2 n}: U_{2 n}$ is $U_{2 n}$;
3. $T_{2 n+1}$ over $\mathfrak{T}_{2 n+1}: T_{2 n+1}$ is $T_{2 n+1}$;
4. $U_{2 n+1}$ over $\mathfrak{U}_{2 n+1}: U_{2 n+1}$ is $U_{2 n+1}$;
5. $T_{2 n}$ over $\mathfrak{U}_{2 n}$, i.e., expressing $T_{2 n}$ in terms of $U_{2 n}, h U_{2 n-1}, h^{2} U_{2 n-2}$, $\ldots, h^{2 n-2} U_{2}, h^{2 n-1} U_{1}$;
6. $U_{2 n}$ over $\mathfrak{T}_{2 n}$, i.e., expressing $U_{2 n}$ in terms of $T_{2 n}, h T_{2 n-1}, h^{2} T_{2 n-2}$, $\ldots, h^{2 n-2} T_{2}, h^{2 n-1} T_{1} ;$
7. $T_{2 n+1}$ over $\mathfrak{U}_{2 n+1}$, i.e., expressing $T_{2 n+1}$ in terms of $U_{2 n+1}, h U_{2 n}, h^{2} U_{2 n-1}$, $\ldots, h^{2 n-1} U_{2}, h^{2 n} U_{1} ;$
8. $U_{2 n+1}$ over $\mathfrak{T}_{2 n+1}$, i.e., expressing $U_{2 n+1}$ in terms of $T_{2 n+1}, h T_{2 n}, h^{2} T_{2 n-1}$, $\ldots, h^{2 n-1} T_{2}, h^{2 n} T_{1}$.

The first four situations are obvious. The remaining situations are established below.

Theorem 6. For every integer $n \geq 1$,

$$
\begin{align*}
2 T_{2 n} & =2 U_{2 n}+\sum_{j=1}^{2 n-1}(-1)^{j+1} \alpha_{2 n-1, j} h^{j} U_{2 n-j}  \tag{10}\\
2 T_{2 n+1} & =U_{2 n+1}+\sum_{j=1}^{2 n}(-1)^{j+1} \alpha_{2 n, j} h^{j} U_{2 n+1-j} . \tag{11}
\end{align*}
$$

Theorem 7. For every integer $n \geq 1$,

$$
\begin{align*}
U_{2 n} & =T_{2 n}+\frac{1}{2} \sum_{j=1}^{2 n-1}(-1)^{j-1}\left[\binom{2 n-1}{j}+\alpha_{2 n-2, j-1}\right] h^{j} T_{2 n-j}  \tag{12}\\
U_{2 n+1} & =2 T_{2 n+1}+\sum_{j=1}^{2 n}(-1)^{j} \alpha_{2 n, j} h^{j} T_{2 n+1-j} \tag{13}
\end{align*}
$$

where $\left(\alpha_{n, j}\right)_{n}$ is the sequence given by $\alpha_{n, j}=\sum_{k=j}^{n}(-1)^{k}\binom{k}{j}(0 \leq j \leq n)$ with the first values

| $n \backslash j$ | 0 | 1 | 2 | 3 | 4 | 5 | 6 |
| :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| 1 | 0 | -1 |  |  |  |  |  |
| 2 | 1 | 1 | 1 |  |  |  |  |
| 3 | 0 | -2 | -2 | -1 |  |  |  |
| 4 | 1 | 2 | 4 | 3 | 1 |  |  |
| 5 | 0 | -3 | -6 | -7 | -4 | -1 |  |
| 6 | 1 | 3 | 9 | 13 | 11 | 5 | 1 |

We need the following proposition to establish Theorems 6 and 7.
Proposition 8. For every integers $n$ and $j$, the following holds

1. $\alpha_{n+1, j}+\alpha_{n, j-1}=\alpha_{n-1, j}+\alpha_{n-1, j-1}$,
2. $\alpha_{2 n, j-1}+\alpha_{2 n-2, j-2}+\alpha_{2 n-2, j-1}=\binom{2 n}{j-1}$,
3. $-\alpha_{2 n+2, j}+\alpha_{2 n, j-1}+\alpha_{2 n, j}+\frac{1}{2} \alpha_{2 n, j-2}=-\frac{1}{2}\binom{2 n+1}{j-1}$.

Proof. 1. $\quad \alpha_{n+1, j}+\alpha_{n, j-1}-\alpha_{n-1, j}-\alpha_{n-1, j-1}=(-1)^{n}\binom{n}{j}+(-1)^{n}\binom{n}{j-1}+$ $(-1)^{n+1}\binom{n+1}{j}=0$.
2. $\alpha_{2 n, j-1}+\alpha_{2 n-2, j-2}+\alpha_{2 n, j-1}$
$=2 \sum_{k=j-1}^{2 n-2}(-1)^{k}\binom{k}{j-1}-\binom{2 n-1}{j-1}+\binom{2 n}{j-1}+\sum_{k=j-2}^{2 n-2}(-1)^{k}\binom{k}{j-2}$
$=\sum_{k=j-1}^{2 n-2}(-1)^{k}\binom{k}{j-1}+\sum_{k=j-1}^{2 n-2}(-1)^{k}\binom{k+1}{j-1}-\binom{2 n-1}{j-1}+\binom{2 n}{j-1}+(-1)^{j}\binom{j-2}{j-2}$
$=(-1)^{j-1}\binom{j-1}{j-1}+\binom{2 n-1}{j-1}-\binom{2 n-1}{j-1}+\binom{2 n}{j-1}+(-1)^{j}\binom{j-2}{j-2}=\binom{2 n}{j-1}$.
3. $-\alpha_{2 n+2, j}+\alpha_{2 n, j-1}+\alpha_{2 n, j}+\frac{1}{2} \alpha_{2 n, j-2}$
$=\binom{2 n+1}{j}-\binom{2 n+2}{j}+\frac{1}{2}(-1)^{j}\binom{j-2}{j-2}+\frac{1}{2} \sum_{k=j-1}^{2 n}(-1)^{k}\binom{k}{j-1}+\frac{1}{2} \sum_{k=j-1}^{2 n}(-1)^{k}\binom{k+1}{j-1}$ $=\binom{2 n+1}{j}-\binom{2 n+2}{j}+\frac{1}{2}(-1)^{j}\binom{j-2}{j-2}+\frac{1}{2}(-1)^{j-1}\binom{j-1}{j-1}+\frac{1}{2}\binom{2 n+1}{j-1}=-\frac{1}{2}\binom{2 n+1}{j-1}$.

Using Theorem 6, we get

$$
\begin{aligned}
& 2 T_{1}=U_{1} \\
& 2 T_{2}=2 U_{2}-h U_{1} \\
& 2 T_{3}=U_{3}+h U_{2}-h^{2} U_{1} \\
& 2 T_{4}=2 U_{4}-2 h U_{3}+2 h^{2} U_{2}-h^{3} U_{1} \\
& 2 T_{5}=U_{5}+2 h U_{4}-4 h^{2} U_{3}+3 h^{3} U_{2}-h^{4} U_{1} \\
& 2 T_{6}=2 U_{6}-3 h U_{5}+6 h^{2} U_{4}-7 h^{3} U_{3}+4 h^{4} U_{2}-h^{5} U_{1} \\
& 2 T_{7}=U_{7}+3 h U_{6}-9 h^{2} U_{5}+13 h^{3} U_{4}-11 h^{4} U_{3}+5 h^{5} U_{2}-h^{6} U_{1}
\end{aligned}
$$

and from Theorem 7, we get

$$
\begin{aligned}
& U_{1}=2 T_{2}, \\
& U_{2}=T_{2}+h T_{1}, \\
& U_{3}=2 T_{3}-h T_{2}+h^{2} T_{1}, \\
& U_{4}=T_{4}+2 h T_{3}-2 h^{2} T_{2}+h^{3} T_{1}, \\
& U_{5}=2 T_{5}-2 h T_{4}+4 h^{2} T_{3}-3 h^{3} T_{2}+h^{4} T_{1}, \\
& U_{6}=T_{6}+3 h T_{5}-6 h^{2} T_{4}+7 h^{3} T_{3}-4 h^{4} T_{2}+h^{5} T_{1}, \\
& U_{7}=2 T_{7}-3 h T_{6}+9 h^{2} T_{5}-13 h^{3} T_{4}+11 h^{4} T_{3}-5 h^{5} T_{2}+h^{6} T_{1} .
\end{aligned}
$$

## 6. Proof of Theorems

The proofs of the two theorems are essentially based on the induction approach and on the proposition above.

Proof of Theorem 6. The precedent tables show the validity of the first terms. We have
$2 T_{2 n+2}=h U_{2 n+1}+\sum_{j=1}^{2 n}(-1)^{j+1} \alpha_{2 n, j} h^{j+1} U_{2 n+1-j}-2 U_{2 n}-\sum_{j=1}^{2 n-1}(-1)^{j+1} \alpha_{2 n-1, j} h^{j} U_{2 n-j}$.
Set $j+1=j^{\prime}$ in the first summation and using relation (4), we get

$$
\begin{aligned}
2 T_{2 n+2} & =2 U_{2 n+2}-h U_{2 n+1}-\alpha_{2 n, 2 n} h^{2 n+1} U_{1}+\alpha_{2 n, 2 n-1} h^{2 n} U_{2}+\alpha_{2 n-1,1} h U_{2 n+1} \\
& -\alpha_{2 n-1,2 n-1} h^{2 n} U_{2}+\sum_{j=2}^{2 n-1}(-1)^{j} h^{j} U_{2 n+2-j}\left[\alpha_{2 n, j-1}-\alpha_{2 n-1, j}-\alpha_{2 n-1, j-1}\right],
\end{aligned}
$$

Using $\alpha_{n, 1}=\frac{1}{4}(-1)^{n}(2 n+1)-\frac{1}{4}, \alpha_{n, n}=(-1)^{n}, \alpha_{n, n-1}=(-1)^{n} n+(-1)^{n-1}$, one deduces

$$
2 T_{2 n+2}=2 U_{2 n+2}+\sum_{j=1}^{2 n+1}(-1)^{j+1} \alpha_{2 n+1, j} h^{j} U_{2 n+2-j} .
$$

Formula (10) is proved. Let us establish (11), we have

$$
\begin{aligned}
2 T_{2 n+3} & =2 h U_{2 n+2}+\sum_{j=1}^{2 n+1}(-1)^{j+1} \alpha_{2 n+1, j} h^{j+1} U_{2 n+2-j}-U_{2 n+1} \\
& -\sum_{j=1}^{2 n}(-1)^{j+1} \alpha_{2 n, j} h^{j} U_{2 n+1-j} \\
& =U_{2 n+3}+h U_{2 n+2}-\alpha_{2 n+1,2 n} h^{2 n+1} U_{2}+\alpha_{2 n+1,2 n+1} h^{2 n+2} U_{1}+\alpha_{2 n, 1} h U_{2 n+2}
\end{aligned}
$$

$$
\begin{aligned}
& +\alpha_{2 n, 2 n} h^{2 n+1} U_{2}+\sum_{j=2}^{2 n}(-1)^{j+1}\left[-\alpha_{2 n+1, j-1}+\alpha_{2 n, j}+\alpha_{2 n, j-1}\right] h^{j} U_{2 n+3-j} \\
& =U_{2 n+3}+\sum_{j=1}^{2 n+2}(-1)^{j+1} \alpha_{2 n+2, j} h^{j} U_{2 n+3-j}
\end{aligned}
$$

Proof of Theorem 7. Suppose, by induction, that relations (12) and (13) are true until order $n$. Then, we have

$$
\begin{aligned}
& U_{2 n+2} \\
& =2 h T_{2 n+1}+\sum_{j=1}^{2 n}(-1)^{j} \alpha_{2 n, j} h^{j+1} T_{2 n+1-j}-T_{2 n}-\frac{1}{2} \sum_{j=1}^{2 n-1}(-1)^{j-1}\left[\binom{2 n-1}{j}\right. \\
& \left.+\alpha_{2 n-2, j-1}\right] h^{j} T_{2 n-j} \\
& =T_{2 n+2}+h T_{2 n+1}+\alpha_{2 n, 2 n} h^{2 n+1} T_{1}-\alpha_{2 n, 2 n-1} h^{2 n} T_{2}-\frac{1}{2}\left[\binom{2 n-1}{2 n-1}+\alpha_{2 n-2,2 n-2}\right] \\
& \quad h^{2 n} T_{2}+\frac{1}{2}\left[\binom{2 n-1}{1}+\alpha_{2 n-2,0}\right] h T_{2 n+1}+\sum_{j=2}^{2 n-1}(-1)^{j-1}\left[\alpha_{2 n, j-1}+\frac{1}{2}\left(\binom{2 n-1}{j-1}\right.\right. \\
& \left.\left.+\alpha_{2 n-2, j-2}+\binom{2 n-1}{j}+\alpha_{2 n-2, j-1}\right)\right] h^{j} T_{2 n+2-j} \\
& =T_{2 n+2}+\frac{1}{2} \sum_{j=1}^{2 n+1}(-1)^{j-1}\left[\binom{2 n+1}{j}+\alpha_{2 n, j-1}\right] h^{j} T_{2 n+2-j} .
\end{aligned}
$$

Analogously, we obtain

$$
\begin{aligned}
& U_{2 n+3} \\
& =h T_{2 n+2}+\frac{1}{2} \sum_{j=1}^{2 n+1}(-1)^{j-1}\left[\binom{2 n+1}{j}+\alpha_{2 n, j-1}\right] h^{j+1} T_{2 n+2-j}-2 T_{2 n+1} \\
& -\sum_{j=1}^{2 n}(-1)^{j} \alpha_{2 n, j} h^{j} T_{2 n+1-j} \\
& =2 T_{2 n+3}-h T_{2 n+2}+\frac{1}{2}\left[\binom{2 n+1}{2 n+1}+\alpha_{2 n, 2 n}\right] h^{2 n+2} T_{1}-\frac{1}{2}\left[\binom{2 n+1}{2 n}+\alpha_{2 n, 2 n-1}\right] \\
& \quad h^{2 n+1} T_{2}-\alpha_{2 n, 2 n} h^{2 n+1} T_{2}-\alpha_{2 n, 1} h T_{2 n+2}+\sum_{j=2}^{2 n}(-1)^{j} h^{j} T_{2 n+3-j}\left[\frac { 1 } { 2 } \left(\binom{2 n+1}{j-1}\right.\right. \\
& \left.\left.-\alpha_{2 n, j-2}\right)+\alpha_{2 n, j-1}+\alpha_{2 n, j}\right] \\
& =2 T_{2 n+3}+\sum_{j=1}^{2 n+2}(-1)^{j} \alpha_{2 n+2, j} h^{j} T_{2 n+3-j} .
\end{aligned}
$$

Some perspectives. The extension given here is related to two papers written by Belbachir and Bencherif [4, 3]. As a first perspective, as suggested by Professor Andreas Philippou in a private communication, it is interesting to establish the same results for the multivariate Fibonacci and Lucas polynomials. The second one is to see how can be extend the results given by Prodinger [10] and by Belbachir and Benmezai [5] to the $q$-analog situation.

## Acknowledgement

The authors would like to thank the referee for his/her useful guidance which improve the quality of the paper.

## References

[1] P. Appell and J. Kampé de Fériet, Fonctions Hypergéométriques et Hypersphériques. Polynomes d'Hermite, Gauthier-Villars (Paris, 1926).
[2] H. Belbachir and F. Bencherif, On some properties of Chebychev polynomials, Discuss. Math. General Alg. and Appl. 28 (2008) 121-133. doi:10.7151/dmgaa. 1138
[3] H. Belbachir and F. Bencherif, Linear recurrent sequences and powers of a square matrix, Integers 6 (2006), A12, 17pp.
[4] H. Belbachir and F. Bencherif, On some properties of Bivariate Fibonacci and Lucas Polynomials, J. Integer Sequences 11 (2008) 08.2.6.
[5] H. Belbachir and A. Benmezai, Expansion of Fibonacci and Lucas polynomials: An Answer to Prodinger's question, J. Integer Sequences, Article 12.7.6, 2012.
[6] C. Cesarano, Integral representations and new generating functions of Chebyshev polynomials, Hacet. J. Math. Stat. 44 (2015) 535-546. doi:10.15672/hjms. 20154610029
[7] C. Cesarano, Generalized Chebyshev polynomials, Hacet. J. Math. Stat. 43 (2014) 731-740.
[8] C. Cesarano, Identities and generating functions on Chebyshev polynomials, Georgian Math. J. 19 (2012) 427-440. doi:10.1515/gmj-2012-0031
[9] E. Lucas, Théorie des Nombres (Gautier-Villars, Paris, 1891).
[10] H. Prodinger, On the expansion of Fibonacci and Lucas polynomials, J. Integer Sequences 12 (2009), Article 09.1.6.
[11] T.J. Rivlin, Chebychev Polynomials: from Approximation Theory to Algebra and Number Theory, Second Edition (Wiley interscience, 1990).

